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Topic:- General Knowledge and Logical Knowledge

1) Sanchi Stupa was built by / GIE]] U BT frator feem foean
1. Bimbisara / fdfeOR

2. Raja Bhoj / XTSIl Ul

3. Ashoka / 3R

4, Kanishka / 1155

Correct Answer :-

« Ashoka / 32N

2) How many different 6-digit numbers can be formed from the digits 4,5,2,1,8,9?/ 3{7:]73[ 4,5,2,1,8,9 ﬁmﬁ

6-3i1 aTelt T=TE fAiftfa &t o Tt 32
1. 480
2. 360
3.720

4. 840

Correct Answer :-
e 720

3) How many associate banks merged with State Bank of India (SBI) in 2017 / 2017 ¥ YRAg We d§F (Qmﬁarr%)
& 1Y fpa weaht & fawa gue

1.4
2.6
3.5

4.70

Correct Answer :-



4) Which State will become the first to launch a blood bank for cattle? / U] * m UPh 1S S AT B qrdT
HTH UG T DI AT T2

1. Gujarat / JJSIRTd

2. Tamil Nadu / AHTTg
3. Odisha / Gé 3|

4. Haryana / giaron

Correct Answer :-

« Odisha /3SHT

5) Which of the following scientists was associated with the first nuclear explosion in Pokharan? / UReRUr ¥ U

Tt faepie & w1y Faffed § 9 o9 9 dafe dds &2
1. Satish Dhawan / IR ¢a

2. Raja Ramanna / XTSI XHAT

3. Vikram Sarabhai / fspH YRIHTS

4. S S Bhatnagar / T8 TH YCANR

Correct Answer :-

» Raja Ramanna / XTSI XHE

6) Which is India’s highest award in cinema? / REATT & URd ST1Ha YRIPR aﬁq E3 18 %?
1. Dadasaheb Phalke Award / Glcl FI%_Q’ Wleh IR

2. Academy Awards / ThSH! JRIDR
3. Filmfare / ThethaR

4. 1IFA / TSI

Correct Answer :-

« Dadasaheb Phalke Award / GIGT UTed Wleth JRIBR

7) The Tansen Music Festival is held in__. /AT T¥iid RIS __ # maiford far wirar 21

1. Indore / 3@?

2. Gwalior / IR
3. Ranchi / =t

4. Bhopal / )

Correct Answer :-



« Gwalior / TIRTOR

8) Kudankulam Nuclear Power Plant is located in [ PUSAPTH IR Cp] ﬁg’q_d LIRIEE] |
fRae

1. Gujarat / T[SIRId

2. Uttarakhand / STRRGS

3. Tamil Nadu / aifla;llg

4. Madhya Pradesh / TG

Correct Answer :-

e Tamil Nadu/ﬁm@;llg

9) Parmeet and Charu start moving towards each other from 2 places 200 m apart. After walking 60 m, Charu
turns left and goes 20 m, then turns right and goes another 40 m. She then turns right again and comes back on the
path on which she started walking. If Parmeet and Charu walk with the same speed, What is the distance between

them now? / TR Td T A 2 T WA A TH-gAX B 3R F&HT I a1 &t 200 Hex S g R E1 60 .
TA- & 1¢ AR aT3 3R S 20 T, 7l e 98 918 ik g1 8w 40 . a9 7l | frr J5 v IR R e
3R ST 3R U ARt 9R 919 o1 7§ RO WR I T IR fohan 11 afe wrelia SR aRe wue A &
Tad g °f 39 TG STH A B g3l |1 g2

1. 40 m /40 .
2.20m /20 H.
3.50 m/ 50 H.

4.10m/10 .

Correct Answer :-
« 40m/40 T,

10) The Bhakra Nangal Dam is built across the River / HTEST T §iY ERl 717:& R fAffa %:
1. Jhelum / SIeTH

2. Chenab / TITS

3. Ravi / Xl

4. Sutlej / IS

Correct Answer :-

« Sutlej / Te

11) Average literacy rate of Madhya Pradesh according to 2011 census was / 2011 P ST & SITAR 9

U 1 3T FTeRar & A
4)



1.24.33%
2. 58.19%
3. 69.32%

4.75.2%

Correct Answer :-

* 69.32%

12) Viswanathan Anand is a famous player of ____ / IERCE IS R BT ® uﬁ@%ﬁrﬁ %.I
1. Golf / TTet

2. Hockey / Eﬁ

3. Badminton / S8 fe

4. Chess / T[aRol

Correct Answer :-

e Chess / Aol

13) Most important towns in the Malwa region are / HICIdI &.‘]3[ o gad WW %
1. Panna and Ujjain / 9T 3R I

2. Ujjain and Indore / IS 3R E_C?IT

3. Umaria and Rewa / SHRAT 3R XaT

4. Rewa and Bhind / ¥dT 3fRR fiug

Correct Answer :-

« Ujjain and Indore / i 3R 35]?

14) The term of office of the Governor is / JTSUUTA DT CILEAI ﬁWFIT_EaT'IT%"
1.6 years/6 GL
2. 5years/5 CL
3.3 years/3 GL

4.4years/4a'5f

Correct Answer :-

. 5years/53'5f



15) The term ‘Deuce’ is associated with /RMeq "SYI' O Hefea g
1. Cricket / fohape
2. Hockey / gldt

3. Football / peald
4. Tennis / 9

Correct Answer :-

« Tennis /AT

16) ‘Home Rule League’ was established by / 'BTFI' I WRT B RITYAT 3?% IR o1 T 2t
1. Bal Gangadhar Tilak / ST TPTER faae

2. P.S. Mehta / O1.Q9.Hgar

3. S.N. Bannerjee / TH. U, oIl
4, Annie Besant / Q""ﬁa@?f

Correct Answer :-

¢ Annie Besant/ Q:ﬁaﬁ'c'

17) Who was the first non-American TIME person of the year? / Ug<il TR-3mRaT mqﬁq 3w f waﬁ-—l
AT?

1. Indra Nooyi / gl Tﬁ

2. Mahatma Gandhi / HeTHT Tﬁ‘iﬁ
3. JR D Tata /S RSl CICT

4, Narendra Modi / X% AT

Correct Answer :-
¢ Mahatma Gandhi / HaTHT Tiyeft

18) Who won the Women's Singles China Open Badminton Tournament in 2016? / 2016 | fgdr toha 9 3T

defiies gatawe foem siar 2

1. P V Sindhu / 41 91 g

2. Jwala Gutta / SATCIT TG T

3. Ashwini Ponnappa / S g
4. Saina Nehwal / T8 Agaral

Correct Answer :-



« PV Sindhu /Gt &t &g

19) Two dice are thrown simultaneously. The probability of getting a sum of 8 is / CIRY R Uh 1Y Td Mg %'I G|

P TR BT AN § 3 BT UTRH T e & R 8:

P

Léiltn

| =

1
4
4,

Correct Answer :-

20) The famous Sarod Player born in Gwalior was / arfertR § 'aE,'T [y m '\qﬁ_c{ dlq® )
1. Amjad Ali Khan / 3{HSIG 3fcil &4

2. Pandit Ravi Shankar / Uf$d Id TR

3. Pandit Jasraj / ifsd SRS

4. Ravi Shankar Shukla / Ifd=iR Rkl

Correct Answer :-

« Amjad Ali Khan / 3{F9Tq Sfcil &

21) was conferred with the International Maritime Organization Award for Exceptional Bravery at Sea

in 2016? /2016 T TS & SATYRU R F g Sfa=igia wqsh e o1 R 31y forar T
Y2

1. Captain Urvashi Rana / b dl- RCRIRIEI]
2. Captain Radhika Menon / Ul NIREIREEE
3. Lieutenant Ganeve Lalji / dftede g araon

4. Lieutenant Commander Priya Jeyakumar / Wit HaisR foar \?Igﬂ-l R

(7)



Correct Answer :-

« Captain Radhika Menon / @ XITYHT A

22) Find the odd one out: / Th faus NIG) aﬂﬁmz
1, 1,2, 6,24, 98, 720, 5040

1. 98

2.6

3.24

4. 720

Correct Answer :-

23) The original jurisdiction of the Supreme Court covers / 3T dH W%Eﬁ SftrpR 933 o znfaa %
1. Terrorism-related cases / 3fTddalg Yafdd AT

2. Disputes between different units of the Indian Union / YR 99 o1 fafis Wl_g'q)f P faare

3. Criminal cases / 3TIRTIY® HTHT

4. Issues regarding National Integrity / Q‘I@’q Jraedl & fawg ffﬂ%’

Correct Answer :-

« Disputes between different units of the Indian Union / YRAIT 99 &1 fafta ngth & &g faarg

24) The Indians who were conferred with the Ramon Magsayay Award 2016 was T M Krishna and k|

YR 78 T A0 PR 2016 @ WG fParmaran, 3 wagpwrsik &)
1. Kiran Bedi / o1 et

2. Bezwada Wilson / SSIdTST faea

3. Harsh Hande / Y 808

4. Arvind Kejriwal / 3Rfdg doRiard

Correct Answer :-

e Bezwada Wilson / é?xram faeg
25) Complete the series choosing the missing number: / YW G-I BT AT B [T HIFTT
1,6,11, , 21

1. 16



2.12
3. 18

4. 14

Correct Answer :-

e 16

26) Complete the series choosing the missing number: / Y& HEAT TADHR YEAT B GRT DITOTC:
80, 73, 66, ;52

1. 58

2.59

3.55

4. 60

Correct Answer :-

59

27) Complete the series choosing the missing number: / & TSI TADGR YEAT HI YT DI
27, 23, 19, 15,

1.12

2. 10

3. 11

4. 14

Correct Answer :-

28) The series given below contains a sequence of numbers. Identify the incorrect combination: / =

3t 13 gaen ®, TRl #1 UH U SRR &1 Tad TS Ugarg:
1, 3, 10, 21, 64, 128, 388

1. 10

2.388

3. 128

4. 64

Correct Answer :-



29) The series given below contains a sequence of numbers. Identify the incorrect combination: / =

3 713 yaar ®, TEe T UH HH IURRIA § | Tad HAe Ugan-:
2, 5,10, 17, 26, 37, 51, 65

1.51

2.26

3.17

4. 65

Correct Answer :-

30) If FLOWERis coded EMNXDS, then how is GAMBLE coded? | Gfé FLOWER & EMNXDS S Hif&d
forar STaT 8, O GAMBLE ) H9 Sifed far smam?

1. HCODNG
2. BFCKLF
3. DMXNES

4. FBLCKF

Correct Answer :-

» FBLCKF

31) Complete the series choosing the missing letter/s: / &l &R/ MR ﬁﬂ’ﬁb‘( g aﬁwaﬁﬁq

__aaba__bba__bba_ abaa_ b
l.a,a,b,a,b
2.a,b,a,b,a
3.b,b,a,b,b

4.b,b,a,b,a

Correct Answer :-

32) Select the option that is true about the Statements and Conclusions given:

Statements:

(10)



All shirts are trousers
No trouser is a towel

Conclusions:
I. Some shirts are towels
I1. No shirt is towel

/ 39 fapeu &1 99 FIoE i AT Te sy sk fFrepuf d TR A AT 2
DY:
Tt 71 TR @

HIE TSR Aferar T8 3

e

1. T M aiferar §

1. PSS Aferar T8 @

1. both conclusion I and 1I follows / sy 1 3?[? II aﬁ GF:NTUTW %

2. cither conclusion I or conclusion II follows / TT al sy 1 a1 fsaT 11 ST A G
3. only conclusion II follows / A FHY 11 SR HRT §

4. only conclusion I follows / Had A=y |1 mm%

Correct Answer :-

« either conclusion I or conclusion II follows /7T af fehY [ T1 fAsH 11 IR0 AT

33) Select the option that is true about the Statements and Conclusions given:

Statements:
Some mails are letters
All letters are posts

Conclusions:
I. Some posts are letters
I1. Some letters are not mails

/ 39 fapeq &1 994 Hifere e feu U Syt iR fAspuf d aR A 9t 2 :
DY-:

POAATTE

g I uRe &

ﬁ'@ﬁ:

LU UT &

L. PO AT TS &

1. both conclusion I and 1I follows / fspd 1 AR a:ﬁ WUTW%
2. only conclusion II follows / Fad fspY 11 ST Hdl %
3. only conclusion I follows / FHad FTpY 1 IR FRAT§

(O



4. neither conclusion I nor conclusion II follows / = B} F&hY 1 3R 71 g1 Fshd 11 SHFERUT CIGE

Correct Answer :-

« only conclusion I follows / HId fASHY I STTRUN HaT §

34) Select the option that is true about the Statements and Conclusions given:

Statements:
All fruits are vegetables
All vegetables are fresh

Conclusions:
I. All fruits are fresh
I1. Some fruits are fresh

1 39 fapeu &1 9= FIE S AT Te sy sk fFrepuf d IR A AET 2
DY:

Tt wo gfesrai @

Tt wferai arelt &

ﬁ'ﬁﬂf:

L. 9t o e §
1. O BA arel &

1. both conclusion I and II follows /ﬁmv_ﬁl \3?[? 11 ‘cﬁ?ﬁ maﬂﬁ%

2. only conclusion II follows / Had T5pY 11 WW%

3. only conclusion I follows / Had AshY | SR WT%

4, neither conclusion I nor conclusion II follows / _Eﬁ fAsp 1 3R T @ e 11 SR A %

Correct Answer :-

« only conclusion I follows / Had fAspy 1 SR A8

35) Select the option that is true about the Statements and Conclusions given:

Statements:
All planes are trains
All trains are buses

Conclusions:
I. Some planes are buses
I1. All buses are planes

39 fapeu &1 9g= FIfoTE e T T sy sk frepuf F IR A HET 2
DY:
ol sEe e E

o ) (12)



I gaTaE

.

L. PO T T8

1. 9 98 oeT @

1. both conclusion I and II follows /ey 1 3R 11 ?ﬁ:ﬁ WW %

2. only conclusion II follows / Had sy 11 G'IT\{HTUTWHT%

3. only conclusion I follows / Had (epy | GF:NTUTWT%

4. neither conclusion I nor conclusion II follows / 7 Bt fsBH 1 3R 7 € fAst 11 SF¥RUI v &

Correct Answer :-

« neither conclusion I nor conclusion I follows / 7 &1 fpY 1 3R 7 & fsepef 11 SFERT I e

36) In a certain code language, Eat fresh apple means keat teek kata, Eat the food means meek peek
teek, Fresh lime juice means kata seda tob. Which is the word for keat in that code language? / T®
W HIS YT ff, Eat fresh apple &1 3% keat teek kata; Eat the food T 3 meek peek teek dUT Fresh
lime juice &1 3% kata seda tobﬁ?ﬂ%l Eﬂﬁﬁ@ yroT § keat%ﬁlﬂmmﬂsﬁmmw%?

1. juice
2. apple
3. lime

4. food

Correct Answer :-

e apple

37) In the following question, some group of letters is given, all of which, except one, share a
common similarity while one is different. Choose the odd one out:

/ g uy ® sl & oo "yE fir e §, R A te o) Siee: Ay 9t ve JurEar uelkia #d § wafe e
IR et 81 v faww e Fifvre:

1. TVX
2. MOQ
3. GEC

4. PRT

Correct Answer :-
« GEC

38) If MADRAS is coded NBESBT, then how is MUMBAI coded? / 9f¢ MADRAS &! NBESBT ¥ ®ifsd
forar wiTaT 8, 9 MUMBAI & 4 Sifsd fhar smam?

(13)



1. NVNDBJ
2. NVKCBJ
3. NVNCBJ

4. NVNCZJ

Correct Answer :-
e NVNCBIJ

39) In a certain code language, Please avoid drinking means cor jus nel, Drinking is harmful means nel cun
rem, and Avoid harmful habits means jus ben cun. Which is the word for /isin that code language? / T W
PIS HIUT ﬁ, Please avoid drinking &1 3 + cor jus nel, Drinking is harmful 1 31 & nel cun rem U1 Avoid
harmful habits 1 Gf?fjus ben cunﬁ?ﬂ %I ELl PIS U H is P ﬁq 5T 2 &1 3‘\‘%111?[ far mn %?

1. nel
2. rem
3. jus
4. cun

Correct Answer :-

* rem

40) If CINEMA is coded GERAQW, then how is THEATRE coded? / Ufé CINEMA & GERAQW X ®Ifsd frar
SAT 8, @ THEATRE®) &9 HifSd [pdT SIIAT?

1. XDJWXMI
2. XDIWYMI
3. XDIVXNJ

4. XDIWXNI

Correct Answer :-

« XDIWXNI

Topic:- Mental Ability and Mental Aptitude

1)

(14)



In the sequence shown below, which figure comes next? / A T&& 3”1 A #, el
i Hie | 3E?

\/

2)

If the following two squares shown below overlap, which one of the following options

is formed? / AT =% &Y @91 ifdcaiaa g1 & o o & ¥ &I a1 va Teeq a=ar &7

(15)



@

b

Z5

L

(16)




®
N

2.
-

.

3.
N
. .
S —

4,

Correct Answer :-

4) Two pipes A and B can fill a tank in 30 hours and 35 hours, respectively. If both the pipes are opened
simultaneously, how much time will it take to fill the tank? / GI UTSU A UG B SHHTT: 30 He 3T 35 6 H UH ¢ &I
YR 9P &1 afe EH1 UTSY U 1Y Wi o1d §, ot &b B WA | fopa=n wwg @@

16l hrs / 161’51?
13 13

5 s
16 —hrs / 16—H9¢
13 13

16E hrs. / 162'5]'3
13 13

16i hrs / 16-£€i€
13 13

Correct Answer :-

163 hrs / lﬁiﬂ'&’
13 13



5) Three boys Hari, Biju and Naga together have Rs. 675. Hari has got three times as much as Biju but Rs. 25
more than Naga. How much does Naga have? KiG| asaﬁ gf, WT‘NT T §i91 & U Pd e 675 $UT
g1 3R & ura Fig A = T siftres Afe Arm & 25 FUn Siftres 2 AT & Uy fraq Fuw B2

1. Rs. 275 /275 %UQ
2. Rs. 175/ 175%49U¢
3. Rs. 375 /375 %UU

4. Rs. 325/325%UU

Correct Answer :-

e Rs.275/275%UU

6) Mahesh has Rs. 50,000 which he converts to Dollars at 1 Dollar = 45 Rupees before going on a weekend trip to
foreign. After returning he finds that he still has 200 Dollars remaining with him. How much amount in Rupees did
he spend during his trip? /@W%WS0,000?%,%I%WWWWGﬁ@W 1 SR = 45?“1"3,'3&3'\’
A STeR & Iad1 71 e & 91 98 UTaT 2 76 30 ure 3t oft 200 STeR A9 F1 37t amn & SR 39
IELERBURCEAE

1. 41,000 Rupees / 41,000 3T
2. 40,000 Rupees / 40,000 ST
3. 35,000 Rupees / 35,000 BT

4. 45,500 Rupees / 45,500 ST

Correct Answer :-

« 41,000 Rupees / 41,000 39T

7) 1f 90 % of a - b is equal to 60 % of a + b, what percentage of a is b? / qf& a-b BT 90% a+b F60% P W%,
T a &7 faraem wfer=rd b 82

1. 40
2. 10
3.20

4. 30

Correct Answer :-

8) Which of the following pair has the same ratio as 70 : 105? /Fafafead s mm BT SUTd 70:105 &
HHA B2

1. 496 : 620

2. 366 : 244
(18)



3. 185:370

4. 468 : 702

Correct Answer :-
e 468 :702

9) The product of 103, 102, and 98 is: / 103, 102, T4 98 W'{[UFTW%
1. None of the above /Buﬁaaﬁﬁaﬂ's‘ 'J-ﬁ:fg"f

2.10,28,588

3. 10,29,568

4. 10,29,588

Correct Answer :-

e 10,29,588

10) What will be the last digit, when you expand 7233 2 / 3ifer 3% &aT BRI, 91 3 7233 BT faaR H32
1.6
2.7
3.9

4.3

Correct Answer :-

11) John can paint a house in 15 days; Joe can do the same in 10 days; while James can do it in 5 days. If all the
three work together, then what part of the job can they complete in one day? /S 15 ﬁﬁ’f | Uh U Ca ok
|l §; S 10 faAT & THT HX W1 7; TP ol 39 5 31 A o GFar 71 afg @1 v w1y o1 774 &,
a3 ue a7 o ol o1 foraan favan @ a2 awd &2

Lo | =

LD |
|

3.
4. None of the above / SURIG m ﬂ-ﬁ%"r

(19)



Correct Answer :-

11

12) The ratio between the present ages of Yolo and Zolo is 6 : 7. If Zolo is 4 years old than Yolo, what will be the

ratio of the ages of Yolo and Zolo after 4 years? / arEt 3R et Bt g S{TY BT MU 6:7 HE IS IGIRIG]
B AT H 4 af T2T 2, Y 4 af 71 TreAt 3R e B S BT ST FAT G

1. None ofthese/mﬁﬁﬁglﬁqﬁ
2.8:5
3.7:5

4,.7:8

Correct Answer :-

13) Average income of 100 employees 92, out of which average income of 40 employees is 80. What is the average

of the remaining 60 employees? / 100 UG B} 3T 3 92 B, o A 40 FaTiaY F i 3ma 8o 81
A 60 FHHETRGT B ST 3T F9T 32

1. 100
2. 105
3.95

4.92

Correct Answer :-

« 100

14) If the average score of 30 boys in a class is 80; and the average score of 20 girls in the same class is 90; what is

the average score of the entire class? /uﬁwaﬁﬁ'so asﬁm 3T TP 80 %; MR IH T A 20 aﬁ%‘a’tm
ST WHIR 90 B; O R T & 3 THR AT 82

1. 84
2.82
3. 80

4. 90

Correct Answer :-

e 84

(20)



15) A fruit vendor purchases 3240 apples at USD 7 a dozen. During transportation, 10% get damaged and have to
be discarded. The remaining apples are sold at the rate of USD 2 for 3. What is the profit or loss percentage? / Y

T fathdr A 3240 V1 B 7 STeR U goid B1 & A @IS UG8 F SR, 10% &fauw g1 oid & Sfiv 59
%o foaT STaT 81 AW A 2 STAR Ufd 3 A9 F S T I°1 141 8 | 1Y 31yaT g1~ ufawra s g2

2.
229-'6 profit / 22% ol
3. I’ I‘
2= 2,
4;% profit / 4:’% I
4. | |

Correct Answer :-

2—% profit / 2-% @&

"‘lIO\
-1 o

16) A spherical lead ball of diameter 15 em is melted and lead shots of radius 1.5 mm are made. The process

involves wastage of 3%. How many lead balls are made? / 15 ﬁmmﬁﬁa%wﬁmﬂzaﬁw
;ﬁ;ﬁwmﬁﬁaaﬁﬂ?mmﬂ%’l 9 vforan | 3% @t gafdl oft wnfira 31 wra $t fai 7 o918

1. 121250
2. 7760
3. 62080

4. 970000

Correct Answer :-

e 121250

17) A father is four times as old as his son. Four years hence, the sum of their ages will be 43 years. The ages of the
son and the father are , respectively / U@ fUdT 30 T3 @ IR TAT 9T 2 | 4 T 91G, IADT 3TY BT AT 43
a9 g1 O SR e Y 3w R Gl

1. None of the above /mﬁﬁﬁé 'J-ﬂ:TEﬁ
2. 3 and 26 years / 3 A4T 26 T

3. 5and 27 years / 5 dYT 27 G
‘ (21)



4. 7 and 28 years / 7 YT 28 GL

Correct Answer :-

e 7and 28 years /7 ddl 28 9%

18) 14 workers can make 10 tables in 5 days. 10 workers started working, and 1 worker joined on the 5th day.

How many days will take to make 12 tables? / 14 yf¥rep 5 fa=1 & 10 399 T91 TP &1 10 4B A BH HIAT
IR= fa, T 1 4fe 5% R <fve &) Tl 12 Y9 T A fre R e

1.4
2.7
3.9

4.8

Correct Answer :-

. 8

19) A fresh fruit contains 62 % of water, and a dry fruit contains 24 % of water. How much dry fruit can be
obtained from a 100 kg of fresh fruit? / U® a1 A H 62% Wd AT 8, 94T U T ®a A 24% wa AR B
100 fFauTH a9 wa | fran @ v U fHA &1 9o 82

1. 48 kg / 48 fUT
2. 50 kg / 50 fabum
3. 40 kg / 40 fopu

4. 45kg / 45 T

Correct Answer :-

. 50kg/ 50

20) The ages of a group of four people are four consecutive even numbers. If the sum of the age of the group is 156
then, find the age of the oldest member of the group. / TP IHg & IR AT Bt ST TAR IR IH G8ITY %I
qfe TE BT 3T FTANT 156 B, A TYE & T 93 TG B 3T [T B |

1.42
2.40
3.36

4. 38

Correct Answer :-

e 42



21) The average of a set of 20 values is 15.8. The mean increases by 0.4. When a mean value is added to the set.
Then the new value is: / 20 3 U TYE BT 3Td A 15.8 8| I 0.4 TF §¢ W1d1 8 | 99 TH ALY U 9qg A
SIIST SITaT § | & 74T | &

1.24.2
2.204
3. 15.8

4.22.4

Correct Answer :-

° 242

22) The ages of Imran and Akbar are in the ratio of 3 : 4. If after 16 years their ages will be in the ratio 5 : 6, then
what is the present age of Imran? / SHRT 3R 3(HaR BI I 3: 4 F JUTd | g1 AR 16 T T1¢ IAD I BT
ST 5:6 W BRI, A SURT B T 3Tg FIT 32

1.24
2.29
3. 27

4.25

Correct Answer :-

e« 24

23) The average weight of A, B, C is 55 kg. The average weight of A & B be 50 kg & that of B & C is 60 kg. Find
the weight of B./ A, B T4 C BT 3d gui 55 [T 81 A TF B P71 3N aoi 50 fHam @ 91 B T4 C F1
60 fFm 81 B 1 a9 1 $ 1

1. 57 kg / 57 [
2. 60 kg / 60 foraiamH
3.50 kg / 50 forammd
4. 55 kg / 55 foramma

Correct Answer :-

. 55kg/ 55 fmamm

24) The cost of 15 articles is the selling price of 10 articles. Find the profit %. / 15 a?ﬂ\ﬁ P A1, 10 aﬁéﬁ Cal
fasra gea 31 A1H % T B

36%

(23)



66— %

50%

Correct Answer :-

50%

25) In the same time-span, Mark Spitz can swim twice the distance downstream than upstream. The speed of the
current is 2 kmph. How long would he take to swim 3 km in still water? / AT m@ o g9g eEfy ¥, faudia
YRT B FT A URT P 1Y G g8 9 O FHaT1 2 | URT D1 7fa 2 foeft wfey we1 31 fRR ureit o 3 b ofh.
O F I = wwg e

1. Cannot be determined / FefRa 78} fpar ST awar g
2. 48 min / 48 T
3. 30 min / 30 fiE

4, 24 min / 24 foTE

Correct Answer :-

« 30 min/ 30 fie

26) A train shuttles between stations A and B, and stops at 5 intermediate stations for 5 mins each. Assume that
the stations are at equal intervals of 10 km, and the train is moving at a speed of S0 kmph, how long will it take to

reach B? / U YeNITS! W A 3R B & 9 Xed Hdl § i 5 e & forg s 5 wead! wxe v Fadt
1A o 5 BRI 10 fril & WaR iR R B sk e 50 frfi ufa e Ftfa A smi ag W& 8, A A B aP
Uga | faar awa R

1. 97 min /97 fFFe
2. 85 min / 85 fAC
3. 60 min / 60 fHFE

4. 72 min/ 72 A€

Correct Answer :-

« 97 min/97 fiFe

(24)



Which one of the following four addresses is NOT EXACTLY same as the one given below? / fafaam
IR gl 7 A 2 33 T & S 9 I 91 v 81 82

Stephen Horlicks,
23-36 Alpine Place,

2171 Horningsea Park, Australia

(i) Stephen Horlicks,
23-36 Alpine Place,

2171 Horningsea Park, Australia

(ii) Stephen Horlicks,
23-36 Alpine Place,

2171 Morningsea Park, Australia

(iii) Stephen Horlicks,
23-36 Alpine Place,

2171 Horningsea Park, Australia

(iv) Stephen Horlicks,

23-36 Alpine Place,

2171 Horningsea Park, Australia
1. iii

2.iv

3.1i

4.1

Correct Answer :-

28) Find the average. / 3Nea T
81, 72, 63, 55,43 & 34
1. 58

250
(25)



3. 61

4. 56

Correct Answer :-
e 58

29) A thief is noticed by a policeman from a distance of 200 m. The thief starts running and the policeman chases him.
The thief and policeman run at the rate of 10 kmph and 11 kmph respectively. At what distance will the policeman

catches the thief? / TH TR 200 Hex B g A TH YRl gIRT 3@ 11 8 1 TR SIS 3RY HXal § 3R
yfrreHf Iu®T fioT $d &1 IR SR gRerrsHl pawr: 10 fFwt ufd ver oik 1 bl vl 6 F R A e
g1 gferred 9k 3t v gt R uws 2

1. 2.4 km /2.4 Tt
2.2.2 km /2.2 foHT
3.2 km /2 fopH

4.2.6 km /2.6 fooet

Correct Answer :-

e 2.2km/2.2 &t

30) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: / EiE| iﬁ

TE g ¥, 3Ry 3R s &1 us wH fAfRd 81 Taq Jaie ugane:
i.qwerrq08031rqewq

ii.qwerrq08031gqewq

iii.qwerrq08031rqewq

iv.qwerrq08031rgewq

1. il

2. iv

3.1

4.1

Correct Answer :-

Topic:- Science and Simple Arithmetic

1)

(26)



By what number should (g-) -4 be divided so that the quotient is (%)
4?/(%)-4$qum@rmﬁmmﬁ?mm(§)4 e
g7

5
. Sk
@*
2.
B
2y 4
4, (9}

Correct Answer :-

34 4
(2

2)

3, 15

4. 16

Correct Answer :-

3)
In the adjoining figure, if 2SPQ = 65° and ~SQP = 7°, Then, /PRQ=——' 2w v fom &, afy 2SPQ

= 65°3K ~SQP =70%, @, ,~PRQ=——'

(27)



1. 50°
2. 359
3. 40°
4. 459

Correct Answer :-

. 450

4) Vacuoles are cavities filled with a fluid called ./ Tufaar WA 'H'\PI§§ '{[%WTQ%I
1. starch / ©Td

2. proteins/maq

3. fat globules / &9 TMAHTY

4. cell sap / PIRHT |

Correct Answer :-

« cell sap / BB

5) Find the mean of first 5 two-digit multiples of 4. / 4 ¥ Ugd 5 3l 3l aral {[UIW?[ BT HIS F1d Be
1.24
2. 16
3.20

4.22

Correct Answer :-

6) Find the quotient when x> + x - 72 is divided by x — 8./ x* + x — 72 @I x — 8 & HFT & U YRTHS JTd B |
1.X-9
2.X+9
3.X+8

4,2x -8

Correct Answer :-

e X+9



7) Plaster of Paris is stored in a: / WIT¥CY 3T LIEs k| mmﬁ I %
1. Metal containers / YTq UTA

2. Moisture-proof container / :Pﬂ ff?ﬁ =

3. Insulated containers / Jeft U

4. Glass containers / =M=l & U

Correct Answer :-

* Moisture-proof container / T eft U

8) A pendulum oscillates 60 times in 8 seconds. Its time period is: /WW 8 AHUS H 60 W?ﬁﬂqm%l
TSI 9HY 3y §:

1. 1355/ 1.35 GBS
2.0.23 s /0.23 4HUS
3.2.145/2.14 4HUS
4.0.135/0.13 HUS

Correct Answer :-

e 0.135/0.13 YBUS

9) Calculate the amount if the principal = Rs. 6000, time period = 2 years and rate of interest = 5% per annum

compounded annually. / mﬁraﬁmﬁ, 'Clﬁ"llﬁil:f =6000 '\""Ta, 3afr = 2 af qUT AT &R = 5% S TUA
IPgfad sl

1. Rs. 6615/ 6615 3qd
2. Rs. 6420 / 6420 ST
3. Rs. 6390 /6390 TY

4. Rs. 6525 / 6525 3UY

Correct Answer :-

e Rs.6615/6615 30

10) Refraction of light is responsible for: / UhTRI BT adq A= & f%ﬂ! Iaverdt '{ﬁ'aT %:
1. Shadow formation / BTIT & 0T

2. Twinkling of stars / AR} @ feafen™

3. Blue color of the sky / STHTRT & =i T

4, Rainbow / 3_&‘{‘(‘171’5[

(29)



Correct Answer :-

» Twinkling of stars / AR} &1 feafeq™

11) 7225 Students are sitting in an auditorium in such a way that there are as many students in a row as there are
rows in the auditorium. How many students are there in the auditorium? / T JHT Ha A 7225 WWW%%
o v ufd A 399 o= €, et Iy ya= # ufdaai €1 99T yaa # fpaa s &2

1.75
2.85
3.95

4. 65

Correct Answer :-

12) 0.005832 is the cube of a rational number ./0.005832 TRAT S PTIA 2l

4,35

Correct Answer :-

13) In India, oil wells are found in: / HIRd ﬁ, GG TE[ EI?TUTQ SIG %
1. Goa / T3l

2. Karnataka / HICH

3. Orissa / 3SR

4. Assam / 3IH

Correct Answer :-

e Assam / 3IH

(30)



14) Spot the producer from the following. / fafafead a IdTGH Bl ﬁﬂ%ﬁ - ond|
1. Grass / YUTH
2. Bacteria /\_rﬂaTUl

3. Grass hopper /ﬁg[

4. Mushroom / HRIR™H

Correct Answer :-

e Grass /Y

15) Name one fungus which affects stored food grains. / 39 Udh hdh HI HTH ddIgT, S HSTR TS B
gHTfId HRar gl

1. Neurospora /W

2. Bracket fungus | Siohe Iy
3. Aspergillums /QWT&[W
4. Agaricus /Qﬁﬂw

Correct Answer :-

e Aspergillums /QWT&IT’I’FH

16) A new born baby will double its weight in 2 months due to: / TdGITd ﬁl’{[ = & FRUT 3UET UR 2 TI'I?ﬁ 3.1
AT B A

1. Overeating / 3AfYH WH b BRI

2. Increase in the number of body cells / Wﬁﬁﬁmﬁﬁﬂwﬁq@EW
3. Increase in fat/WﬁQ@%W

4. Protein in milk/gﬂﬁm'cﬁ:fa?w

Correct Answer :-

« Increase in the number of body cells / TR ﬁaﬁiﬁm@ﬁﬁmﬁq@%m

17) The outermost covering of all plant parts are made up of: /Y & T 4N BT HER dTal 3TART fada
B)R‘lT %:

1. Phloem / TGITTH
2. Meristematic tissue / fAHSIId® SHdd

3. Dermal tissue / AT Sdb
4. Xylem / SIIgAdH

Correct Answer :-
(31)



« Dermal tissue / @I 3d®

18) The areas of a square and a rectangle are equal. If the side of the square is 24 cm and the
breadth of the rectangle is 16cm, then the length of the rectangle is: / T&® it qur TP ATad ¥ eawd
IR g1 afe Tt St Yo 24 Tt B U1 3maa B AHSE 16 AH. 8, O AT P @S gt

1.32 cm /32 99,
2.26 cm /26 9.
3. 36 cm / 36 T,

4,28 cm /28 WY

Correct Answer :-

e 36cm/36TH.

19) PAQ is a line parallel to side BC of a triangle ABC. If 2PAB = 55° and 2ACB = 60°, then 2CAB =
. / PAQ XY ABC ! Y=IT BC & JHMIaR TP 3T 8| Tfe 2PAB = 55° AT LACB = 60°, @l .CAB =
|

1. 70°
2. 40°
3.45°

4. 65°

Correct Answer :-
e 65°

20) The agricultural practice followed after preparation of the soil is: / T $1 dUR! 1 & IR 39
P AR BT AFIRVT fHaT 1T B:

1. Irrigation /ﬁﬁﬂé
2. Spraying pesticides and insecticides /Wmaﬁaaﬂa-—maﬁmm
3. Sowing / §3ﬂ'§

4. Adding manure and fertilizer / Wig d ISP ST

Correct Answer :-

« Sowing / §~3ﬂ§

21) ABCD is a trapezium in which AB | | DC and DC is perpendicular to BC. If z.DAB = 110°, then
2ABC - .ADC = . / ABCD U®% JHaW & fora# AB | | DC 3R DC, BC WR 3ifHavaad g1 afe ~.DAB =
110°, dt ZABC - ZADC = I

(32)



1. 18°
2. 16°
3.20°

4. 220

Correct Answer :-

e 20°

22) Say 'No’ to plastic bags and ‘Yes’ to cloth bags because: / WIfc® P ARG FH 91" g 3R PUS &
& B 51" Be b

1. Plastics are made from wood pulp / @IRCH AHS! & Ho-qIet I &1 gl gl

2. Plastic bags are biodegradable / @& @ Aferar Siafw==t gt &1

3. Plastics are non-biodegradable / @& 3riaf =t g1

4. Plastics are chemically reactive / TATRe® THEd: &@Wmﬂa@?ﬁ%l

Correct Answer :-

« Plastics are non-biodegradable / @ = &

23) Plasmolysis in a plant cell is defined as the . | U UTeU HI1eT § Siageagda- &t
& ¥ # ufvuiya fsar wan 31

1. break down of plasma membrane in hypotonic medium / Y WNR A1ed § Staged Sl &1 f[aged

2. shrinkage of nucleoplasm / HEDHGT B %ignH
3. shrinkage of cytoplasm in hypertonic medium / mmmmﬁmww
4. none of the above /Wﬁﬁﬁqﬁ

Correct Answer :-

« shrinkage of cytoplasm in hypertonic medium / &ﬁmmmﬁﬁﬁwmw

24) Electric fuse is connected . ﬁz{a?r ol ST ST 3
1. across the energy meter / ol Hiex & SMury

2. on the live wire / ﬁgq'-tmaﬂ W

3. on the neutral wire / 3GMIH dR TR

4. on the earth wire / R WX

Correct Answer :-

« on the live wire / [agaHI aR &R
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25)

4 2 . 4 2
Solveforx:———=- [x & @™v — ==
Jx—(5-3x) 5 B W 3x—-(5-3x) 5
5
1, 2
5
2.4
4
3.5
3
4.5

Correct Answer :-

26) The radius and the height of a cylinder are in the ratio 4:7 and if its volume is 352 cm?, then its radius is: /Waﬁq

P Froar 9uT HaE 4:7 & ST H € U1 afe 3HST A 352 ¥4 9. €, a9 39t e g
1.4 cm/4 9.
2.8 cm /8 .
3.6 cm/ 6 I,

4,12 cm/ 12 Y.

Correct Answer :-

e 4cm/43H

27) The Met Department predicted heavy thunderstorm and lightning on a particular day, and Radha
wanted to go out with an umbrella but she was advised not to carry it because: / HaH fAurT 3 TP

& Ut gt 3R faeTelt gafgum farar o1 3R 3141 v S1ar A6 a1eR W aredt B AT 3@ ware § 18
i f5 98 I/ 7 A 9 FfF:

1. Electric discharge from clouds can travel to the metal parts of the umbrella /Wﬁﬁ@ﬁﬁﬂﬁ@ﬁ% Yrd tfion|
GEACIESEI]

2. It becomes slippery to hold /RWﬁWW@W%I
3. It may get rusted /WWGFTWTW%I

4. The umbrella may get blown away/@fﬁTG’SW@R\?ﬂW%l

Correct Answer :-

* Electric discharge from clouds can travel to the metal parts of the umbrella /W@ﬁ@ﬁﬁﬁ@ﬁ% Yrd Rlien|
e S bl |

(34)



28) A star shaped figure was cut in the black paper strip used for covering the leaf of a destarched plant used
for demonstrating that light is necessary for photosynthesis. At the end of the experiment, when the leaf was
tested for starch with iodine, the star shaped figure in the leaf was found to be: / T® AR & PR DI GHTI?{
FIelt BT &1 Ugt § 1t it <Rt et Suah Sier fF3 T Ne 3 u=ht Ft ewq F g favan siman @ < a5 welkfa
P F U 3T giaT & 7 U= Ixawer & e ueTwr sl 31 W & i ®, 99 TRt $1 SMAEF gRT ¥ & e
gdteror farar mar o1, @ usht A aR @Y sepfar Auft urft it

1. Brown / 31
2. Blue black / =fieft el

3. Green/ &
4. Colourless /ATRfgd

Correct Answer :-

« Blue black / Tclt wreit

29) PQRS is a parallelogram. Side PQ is produced to T. IF ZQRS = 125°, then £RQT = ./ PQRS T
TUiER gy 81 Yo PQ &) fig T 9% d¢rm 11 9fd QRS = 125°, @ LRQT = |

1. 125°
2. 55°
3.70°

4. 130°

Correct Answer :-

. 125°

30) The cost price of a computer is Rs. 20,650. An additional Rs. 450 was spent on installing some software.
If it was sold at 15% profit, then the selling price of the computer is / T HFYCI HT eI 20,650 IqY %I
O AIEAUR ARG (STTA) B A 450 $UA Sifaivad T g1 MY Afe 98 FTUER 15% & A1H R S4T o1,
@t HrgeR &1 faswa gea g

1. Rs. 22500 /22500 T
2. Rs. 25125/25125 308
3. Rs. 23450 /23450 348

4. Rs. 24265 / 24265 34U

Correct Answer :-

(3%)






